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THIRD SEMESTER (CBC@S—-—UG) DE(;REE EXAMINATION

NOVEMBER 2021

Common Cot

Time : Two Hours and a Half

Answer at least ten questions..

Each question ca

All questions ca

1. Whatis Linear Equatwn‘?

2. What is meant by g adldtm eq:_uéi__fi'o';n ?

3. Wh‘a{t&s}matrix?

4. What is dmgonal matrix ?

5. How do Iyou caIculate the sum of two mat1 ices ?

6. Whatis Geometrlc Progro&.smn
7. What do you -me_an__ by series 7
8. What is real interest rate ?

9. Define EMI?

10. Define harmonic mean 700

11. State any two desmable propertles of a good averag =

12, What do you mean by dlspermon ‘7

13 Deﬁne btandald deviation,
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14. State any fwo limitations of mean deviation.

15. Whatis kurtosis ?

Section B

Answer at least five questions.

Each question carries 6 marks.

All questions can be attended.
Overall Ceiling 30.

16. Solve 19x + 3x + 21 — 10x = 81.

17. Solve the equation x% + 5x — 14 = 0.

18. Find the determinant of A =

D O
- > DN
DN oW oW

19. Find the 14th term of Arithmetic progression : 1, 3, 5
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(10 x 3 = 30 marks)

20. Three numbers in ascending order in geometric progression such that their product is 1000. Find

the middle number.

21. Calculate simple interest and amount at end of the 3 year for Rs. 20,000 at 10 % per annum

292. Calculate Arithmetic mean from the following data:

Values g 1 2 3 4 5 6

Frequency 3 5 6 11 9 6

23. Calculate median from the following :

31, 14, 25, 18, 17, 26, 27, 23, 22.
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Section C

Answer any two questions.
Each question carries 10 rﬁarks.
24. Solve the following equations by using Cramer’s rule :
2x+ 5y =18
3x + 2y = 16.

25. Find compound interest for Rs. 8,000 for 3 years if interest is payable half yearly at 6 % P.a.

26. Find the 7" term and 10! term of the geometric progression 2, 4, 8.

27. Calculate Standard deviation and co-efficient of variation from the following values |
Size P 1 2 3 4 5 be 7 % ‘
Frequency : 1 3 4 6 9 i 3 2

(2 x 10 = 20 marks)
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